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MAJOR CONCEPTS FROM EACH UNIT:
1.) The theory of how the universe started is referred to as the BIG BANG
a. What is the estimated date of the age of universe? 2} O " Mhe—

b. How did temperature change as the universe expanded? ‘fg m {;, v
c. The first atoms were? H v g}é«%{?e‘@ C f‘f’,‘r + [1e(,un C 4’{{}
d. Left over radiation from the Big Bang is known as? *" e ;’m i Badc ¢ }«ue nd Radic Noy

e. The age of the solar system (our sun and our planets)? g__i b L>§ S
f. Additional evidence that the universe is expanding, Hubble’s law comes from?
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2.) Doppler Effect: s v /
a. |If a galaxy/star is redshifted, the wavelengths of light become 1{ %3’{ %ﬁ“‘ml [o «{’s moving toward

the |7 5{ end of the spectrum. This means an object is moving f:i% (R
b. If a galaxy/star is blue shifted, the wavelengths of light become {{;«;;’3‘ ;»;jg ‘1’[5 oL, moving toward

the }Ef Ue end of the spectrum. This means an object is moving

3.) The Milky Way Galaxy: . ( ‘

Is what type of Galaxy? Spia | \ , / . - :

b. How far are we from the cen'éer? Z[3%C o te vy oA / mn O of Th gf‘;’!f”ﬁig {
c. What lies at the center? g%g G haole iy

d. Our sunis orbiting around what? _
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4.) The Life Cycle of a Star:

a. All stars start out as: /’i/‘/’ bula(

b. Most stars spend 90% of their life cycle in this next stage: m 14

c. Depending upon their [V g , a star will either expand lnto a ;’?‘f’f{; CoZn 1T ora
v 4

vaé;« -, on I . During this stage, the stars temperature jjz‘} yr4a/-/ — butits luminosity
(A L0246 Y because its sizeis __J aire bz , thus emitting more light.

d. Whether a star expands or contracts, depends upon two forces:
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e. Nuclear fus;on is when Ilghter 2o 2 4 7 €elements combine under high temperature and
/47 /.14 . Astar loses TOTAL mass as this process
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=% pressures to form one heavier elemént of




contmues because it takes more hydrogen to create one helium. The fuel of main sequence stars is
YU/ "{}fm’f‘ . As a star ages is will become more composed of 5”?”:»« [idn

f.  Only hfgh mass stars can fuse elements heavier than __ (/4[>0

g. Atthe end of an average stars I|fe |t will shed it’s outer layers and all that will remain is a condensed
core. This stariscalleda (Al 17 /{vweff ,and it is smaller, its temperature is
than our sun, however it is less luminous because it is “;f)}f’i’; alld v . )

h. Only supermassive stars will end up as either __/}2 47 [ fzA or Ly boly following
a super nova explosion. V

5.) H-R classification (pg 15) |
a. An astronomer can infer the TPn "§§ v VE of a star by looking at its color. Red is considered
(el and violet/blue _ V¢ oy Lot
b. The temperature of a star does not determine the luminosity, unless it is a main sequence star. Only for
main sequence stars does an increase in temperature InCregl€ the Ium|n05|ty
c. In general luminosity is most determined by the Sy £ ofastar. The .5 UiZe—

*’L{ L7 t stars are the brightest.

6.) Planetary Models: Please refer to your Venn Diagram completed in class to compare and contrast both. Be able
to identify visuals of each model
a. Geocentric model: f (i;,,; h —( €N {L’»gg{ wxn Cireaie— oFSt

b. Heliocentric model: ¢ )
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7.) Planetary Motions:

’
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a. Keplers 15t law: All planets have {jf[.i&{i‘i? - orbits. | ¢
b. The formula for eccentricity is: - g
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c. Draw an ellipse below. Label the focal points and the major axis.
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d. Kepler's 2" law: As the distance between an object orbiting the sun increases, its orbital velocity

e. Kepler's 3" law: As the distance between an object orbiting the sun increases, its orbital period

A N o
| C fé;gesz;’ )(see reference table pg 15)

f. Law of Gravity in relation to mass and distance: T _/
y I\ Feo o
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i. Asthe mass of objects increase, the gravitational strength

ii. As the distance between two objects increases, the gravitational strength 1{}:

- 1

o



8- The earth is furthest from the sun during the ‘{*{ ‘fﬁ""'{f (i oh . This is when the sun’s

apparent diameter will look the _) M G “ 1&( . The earth is closest to the sun during

_i £ e , thus the apparent diameter will be \L’y’v) {\ J\/
8.) Planetary Data: I/ *3 S T
a. Terrestrial Planets are: N i
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b. Jovian Planets are: ) (
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11.) Seasons: J

a. Are caused by the Earth’s f,[j {/ as we revolve.

b.  Memorize your Brownstein table of seasons review completed in class for June 21, Dec 21, Vernal and

autumnal equinoxes.

C. Have visuals of the celestial spheres for NY, Equator, North and South Poles (all'in your notes)
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d. As the angle of insolation i increases, the intensity of light /

)
€. Asthe angle of insolation i increases, the length of a shadow \

e i — ‘»}..m
f. The angle of insolation i increases from Dec 21t until "] (4 ) / , and decreases from June 215

, NEs 4
back to r} L. 2| - The length of day ,f\ from December 21 to
} Uy ? °§ and N~ from June 215 to ﬁ“ (2 J%ﬁ
g. Noon time shadows in NYS will always point: & ,vzfsﬁwi {f 5 ) T+ be éw«; | g;;;%iwéggl .
h. THERE IS NOTHING IN THE ESRT TO HELP YOU WITH THIS UNIT! VIV ad Sda 0 )
12.)THE MOON:

a. Phases of the moon are caused due to the Moons f‘f*f”éfif,’?%w? around the Earth.
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b. There is always P ; % of the moon illuminated, but we can not always see that portion.

c. Label each of the Moon phases
. N S K;,( S
) SN %—"‘%&

W
1A C

®

Lsavial

|

f s wé"\%fi T lion U
(o Rh g caieny
GusTY
. , . N e (e the 4
d. Asolar eclipse occurs during which phase? N f C ., (yle
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e. Alunar eclipse occurs during which phase? v (L N y ;?‘4%#;}2 |
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f.  How many days does it take the moon to rotate? . to revolve? This causes us to: o

g. How many days does it take to complete one full lunar cycle? m&%’ . E/ﬁ;zzj ( bic 535;?5;?;}%;%&1@%& ,

h. Eclipses are rare because the moons orbit is ’i&i Y inline with the 515"*%; Brbit. o ft,;y

i. Thereare ; high tides and P low tides each day. From high tide to the next "
high tide, or low tide to the next low tide there is approximately 5 2L ‘M hours.

j.- High tides always occur where the moon is positioned closest to the %:W 3 and on the

opposing side. Low tides always occur at right angles to those positions. éﬁ |
k. Spring tides occur when the moon is at which two lunar phases? %;ﬁ tAfe”

I Neap tides occur when the moon is at which two lunar phases? }[s ‘“; 34U




